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Ответы

об. 82⁄7

1. 142⁄10

2. 112⁄4

3. 61⁄7

4. 161⁄7

5. 123⁄4

6. 125⁄9

7. 128⁄10

8. 42⁄8

9. 127⁄9

10. 61⁄4

11. 131⁄6

12. 41⁄2

13. 51⁄10

14. 107⁄9

15. 111⁄3

16. 152⁄5

17. 153⁄9

18. 152⁄7

19. 161⁄6

20. 121⁄2

Разложите каждую неправильную дробь.

об)
6 16

7
= 82⁄7

1)
7 72

10
= 142⁄10

2)
3 34

4
= 112⁄4

3)
3 22

7
= 61⁄7

4)
6 71

7
= 161⁄7

5)
7 23

4
= 123⁄4

6)
4 77

9
= 125⁄9

7)
4 88

10
= 128⁄10

8)
2 18

8
= 42⁄8

9)
8 43

9
= 127⁄9

10)
4 9

4
= 61⁄4

11)
6 43

6
= 131⁄6

12)
2 5

2
= 41⁄2

13)
3 21

10
= 51⁄10

14)
5 52

9
= 107⁄9

15)
5 19

3
= 111⁄3

16)
7 42

5
= 152⁄5

17)
5 93

9
= 153⁄9

18)
7 58

7
= 152⁄7

19)
6 61

6
= 161⁄6

20)
8 9

2
= 121⁄2
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